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MA322-007 Mar 12 Practice Exam

1. Are these subspaces? Show the subspace check.
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Y/’[’V(a ) Which of these vectors are in Nul(A)? (Challenge: give the general answer)
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(b) Which of these vectors are in Col(A)? (Challenge: give the general answer)

o
\%6 CO/O(A.) fairxe®T = ([ x4 1y 432
Uy +§"3 t62 . )()‘%?éie

QQ@
L\)

- = o, ST 26, 2y +¥u +92
QO+ \/3 )VL1 Cu( ‘nﬁ ! ) . +u3+‘22
L'lg’? ;; RRef | Lo Jl o | s 2 § free /%FO%\Vd?
reg(zal ™ 2002 U e vyt T ‘e 0,(@3:(0%‘%\
10 11 a4 ro b 5 O ) i\o‘}“'\\“ﬁﬁ"&v s
\“& Give lots of examples (5 to infinitely many) of vectors in Nul(A):
e [V o =10 2z ya-2%  2lree
754 ¢ 00 0|2 % ol a2
wu O oo 0'0 I I |
ﬁl z
| - _,\r""
pude- G (B) = ¢ L8], [ 8] B UL
f//ﬂy/( Give lots of examples (5 to infinitely many) of vectors in Col(A) N > 0.° O}J—: o/’/
SW % a»(ag Ao 04\\\(} l\ﬂcé %\wQB. Ta 'paf} 0\)—-0 = ):;] Mo!gq'/g’} ;(‘i 7 i_[
. 1 (1 |7 Ta
- X o ;7 «/{ |7 OZ Zj 3
CR(IAY= ) Joy | ooge®i =zl 0 g 33 3L
X%-AH, J > [ J/ ) /
R*ga ]




3. Convert to nullspaces. Find a matrix B so that Nul(B) is as required:
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4. Convert to column spaces. Find a matrix B so that Col(B) is as required:

(a) Col(B) = Nul(A) where A = [é g z ;l 13}
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